

BID2022-75 FURNISH AND DELIVERY OF DUCTILE M-94 IRON FIRE HYDRANT FOR THE DEPARTMENT OF WATER AND SEWER FOR A PERIOD OF ONE YEAR - BID OPENING DATE: 12/7/2022 AT 11:00AM				
NUMBER OF RESPONDENTS:	4			
NAME OF BIDDER	CORE & MAIN, L.P.	BRENT MATERAIL COMPANY	RARITAN GROUP	FERGUSON WATER WORKS
ADDRESS	228 WILLIAMSTOWN ROAD	325 COLUMBIA TURNPIKE - SUITE 308	301 MEADOW ROAD	507 OAK GLEN ROAD
CITY, STATE, ZIP	BERLIN, NJ 08009	FLORHAM PARK, NH 07932	EDISON, NJ 08817	HOWELL, NJ 07731
CONTACT NAME	RON BUSH, BRANCH MANAGER	LINDA GARDNER	JAMES F. RICHARDSON, PRESIDENT	JOHN MASTROGIOVANNI
TELEPHONE	856-753-5566	973-325-3030	732-985-5000	848-992-2132
FAX	856753-5455	973-325-7360	732-985-5002	732-202-5707
E-MAIL	RUSTY.MILLER@COREANDMAIN.CO M	LINDA@BRENTMATERIAL.COM	MIRO@RARITANGROUP.COM	JOHHN.MASTROGIOVANNI@FERGUSON.COM
STATEMENT OF OWNERSHIP DISCLOSURE- MANDATORY	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA - MANDATORY	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE OF CONTRACTOR	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EIC FROM CONTRACTOR	CERT#39386 EXP1/15/2025	CERT#10438 EXP.4/15/2027	CERT#39661 EXP. 4/15/2024	CERT#33467 EXP. 1/15/2026
NON-COLLUSION AFFADAVIT	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ETHIC COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
STATE AND FEDERAL DEBARMENT CERTIFICATION	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED PRIOR TO AWARD OF THE CONTRACT	REQUIRED PRIOR TO AWARD OF THE CONTRACT	REQUIRED PRIOR TO AWARD OF THE CONTRACT	REQUIRED PRIOR TO AWARD OF THE CONTRACT
SIXTY (60) DAY EXTENSION COMPLIANCE	YES	YES	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	N/A	YES	YES	YES
GRAND TOTAL AMOUNT FOR ONE (1) YEAR	\$254,519.10 (SEE ATTACHED BREAK-DOWN OF PRICING)	\$255,845.00 (SEE ATTACHED BREAK-DOWN OF PRICING)	\$257,175.29 (SEE ATTACHED BREAK-DOWN OF PRICING)	\$258,623.48 (SEE ATTACHED BREAK-DOWN OF PRICING)
REFERENCES	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EXCEPTIONS	NONE	NONE	NONE	NONE
FATAL FLAW	NONE	NONE	NONE	NONE

Trenton Water Works – 2022 Fire Hydrant Order
Bid Proposal & Specifications

Bid Proposal: The undersigned proposes to furnish all materials per the specifications and deliver to the Trenton Water Works Cortland Street Yards in accordance with the following:

Item #	Material Description	Qty	Unit	Unit Price	Total
1	Metropolitan M-94 Fire Hydrant, 3'-6" Bury w 4.5" Main Valve Opening	3	Each	\$ 3,009.00	\$ 9,027.00
2	Metropolitan M-94 Fire Hydrant, 4'-0" Bury w 4.5" Main Valve Opening	9	Each	\$ 3,059.00	\$ 27,531.00
3	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 4.5" Main Valve Opening	9	Each	\$ 3,119.00	\$ 28,071.00
4	Metropolitan M-94 Fire Hydrant, 5'-0" Bury w 4.5" Main Valve Opening	9	Each	\$ 3,179.90	\$ 28,619.10
5	Metropolitan M-94 Fire Hydrant, 5'-6" Bury w 4.5" Main Valve Opening	2	Each	\$ 3,229.00	\$ 6,458.00
6	Metropolitan M-94 Fire Hydrant, 6'-0" Bury w 4.5" Main Valve Opening	2	Each	\$ 3,289.00	\$ 6,578.00
7	Metropolitan M-94 Fire Hydrant, 3'-6" Bury w 5.25" Main Valve Opening	4	Each	\$ 3,129.00	\$ 12,516.00
8	Metropolitan M-94 Fire Hydrant, 4'-0" Bury w 5.25" Main Valve Opening	9	Each	\$ 3,199.00	\$ 28,791.00
9	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 5.25" Main Valve Opening	12	Each	\$ 3,269.00	\$ 39,228.00
10	Metropolitan M-94 Fire Hydrant, 5'-0" Bury w 5.25" Main Valve Opening	12	Each	\$ 3,349.00	\$ 40,188.00
11	Metropolitan M-94 Fire Hydrant, 5'-6" Bury w 5.25" Main Valve Opening	6	Each	\$ 3,419.00	\$ 20,514.00
12	Metropolitan M-94 Fire Hydrant, 6'-0" Bury w 5.25" Main Valve Opening	2	Each	\$ 3,499.00	\$ 6,998.00
Kennedy Hydrants are being quoted					Grand Total >> \$ 254,519.10

Bids shall be awarded based on the lowest responsible and responsive bid meeting the specifications.

Corey Maitz P.

Trenton Water Works – 2022 Fire Hydrant Order
Bid Proposal & Specifications

Bid Proposal: The undersigned proposes to furnish all materials per the specifications and deliver to the Trenton Water Works Cortland Street Yards in accordance with the following:

Item #	Material Description	Qty	Unit	Unit Price	Total
1	Metropolitan M-94 Fire Hydrant, 3'-6" Bury w 4.5" Main Valve Opening	3	Each	\$ 3,025.00	\$ 9,075.00
2	Metropolitan M-94 Fire Hydrant, 4'-0" Bury w 4.5" Main Valve Opening	9	Each	\$ 3,075.00	\$ 27,675.00
3	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 4.5" Main Valve Opening	9	Each	\$ 3,125.00	\$ 28,125.00
4	Metropolitan M-94 Fire Hydrant, 5'-0" Bury w 4.5" Main Valve Opening	9	Each	\$ 3,195.00	\$ 28,755.00
5	Metropolitan M-94 Fire Hydrant, 5'-6" Bury w 4.5" Main Valve Opening	2	Each	\$ 3,250.00	\$ 6,500.00
6	Metropolitan M-94 Fire Hydrant, 6'-0" Bury w 4.5" Main Valve Opening	2	Each	\$ 3,300.00	\$ 6,600.00
7	Metropolitan M-94 Fire Hydrant, 3'-6" Bury w 5.25" Main Valve Opening	4	Each	\$ 3,150.00	\$ 12,600.00
8	Metropolitan M-94 Fire Hydrant, 4'-0" Bury w 5.25" Main Valve Opening	9	Each	\$ 3,225.00	\$ 29,025.00
9	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 5.25" Main Valve Opening	12	Each	\$ 3,295.00	\$ 39,540.00
10	Metropolitan M-94 Fire Hydrant, 5'-0" Bury w 5.25" Main Valve Opening	12	Each	\$ 3,350.00	\$ 40,200.00
11	Metropolitan M-94 Fire Hydrant, 5'-6" Bury w 5.25" Main Valve Opening	6	Each	\$ 3,450.00	\$ 20,700.00
12	Metropolitan M-94 Fire Hydrant, 6'-0" Bury w 5.25" Main Valve Opening	2	Each	\$ 3,525.00	\$ 7,050.00
Grand Total >>					\$ 255,845.00

Bids shall be awarded based on the lowest responsible and responsive bid meeting the specifications.

Brent Materials Co.

Trenton Water Works – 2022 Fire Hydrant Order
Bid Proposal & Specifications

Bid Proposal: The undersigned proposes to furnish all materials per the specifications and deliver to the Trenton Water Works Cortland Street Yards in accordance with the following:

Item #	Material Description	Qty	Unit	Unit Price	Total
1	Metropolitan M-94 Fire Hydrant, 3'-6" Bury w 4.5" Main Valve Opening	3	Each	\$ 2,992.01	\$ 8,977.83
2	Metropolitan M-94 Fire Hydrant, 4'-0" Bury w 4.5" Main Valve Opening	9	Each	\$ 3,079.96	\$ 27,719.64
3	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 4.5" Main Valve Opening	9	Each	\$ 3,109.12	\$ 28,522.08
4	Metropolitan M-94 Fire Hydrant, 5'-0" Bury w 4.5" Main Valve Opening	9	Each	\$ 3,226.51	\$ 29,038.59
5	Metropolitan M-94 Fire Hydrant, 5'-6" Bury w 4.5" Main Valve Opening	2	Each	\$ 3,250.41	\$ 6,500.82
6	Metropolitan M-94 Fire Hydrant, 6'-0" Bury w 4.5" Main Valve Opening	2	Each	\$ 3,307.22	\$ 6,614.44
7	Metropolitan M-94 Fire Hydrant, 3'-6" Bury w 5.25" Main Valve Opening	4	Each	\$ 3,112.85	\$ 12,451.40
8	Metropolitan M-94 Fire Hydrant, 4'-0" Bury w 5.25" Main Valve Opening	9	Each	\$ 3,219.07	\$ 28,971.63
9	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 5.25" Main Valve Opening	12	Each	\$ 3,327.40	\$ 39,929.52
10	Metropolitan M-94 Fire Hydrant, 5'-0" Bury w 5.25" Main Valve Opening	12	Each	\$ 3,402.69	\$ 40,832.28
11	Metropolitan M-94 Fire Hydrant, 5'-6" Bury w 5.25" Main Valve Opening	6	Each	\$ 3,442.40	\$ 20,654.40
12	Metropolitan M-94 Fire Hydrant, 6'-0" Bury w 5.25" Main Valve Opening	2	Each	\$ 3,481.33	\$ 6,962.66
Grand Total >>					\$ 257,175.29

Bids shall be awarded based on the lowest responsible and responsive bid meeting the specifications.



Trenton Water Works – 2022 Fire Hydrant Order
Bid Proposal & Specifications

Bid Proposal: The undersigned proposes to furnish all materials per the specifications and deliver to the Trenton Water Works Cortland Street Yards in accordance with the following:

Item #	Material Description	Qty	Unit	Unit Price	Total
1	Metropolitan M-94 Fire Hydrant, 3'-6" Bury w 4.5" Main Valve Opening	3	Each	\$ 3,054.31	\$ 9,162.93
2	Metropolitan M-94 Fire Hydrant, 4'-0" Bury w 4.5" Main Valve Opening	9	Each	\$ 3,111.71	\$ 28,005.39
3	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 4.5" Main Valve Opening	9	Each	\$ 3,169.11	\$ 28,521.99
4	Metropolitan M-94 Fire Hydrant, 5'-0" Bury w 4.5" Main Valve Opening	9	Each	\$ 3,226.51	\$ 29,038.59
5	Metropolitan M-94 Fire Hydrant, 5'-6" Bury w 4.5" Main Valve Opening	2	Each	\$ 3,283.92	\$ 6,567.84
6	Metropolitan M-94 Fire Hydrant, 6'-0" Bury w 4.5" Main Valve Opening	2	Each	\$ 3,341.31	\$ 6,682.62
7	Metropolitan M-94 Fire Hydrant, 3'-6" Bury w 5.25" Main Valve Opening	4	Each	\$ 3,177.03	\$ 12,708.12
8	Metropolitan M-94 Fire Hydrant, 4'-0" Bury w 5.25" Main Valve Opening	9	Each	\$ 3,250.00	\$ 29,250.00
9	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 5.25" Main Valve Opening	12	Each	\$ 3,327.00	\$ 39,924.00
10	Metropolitan M-94 Fire Hydrant, 5'-0" Bury w 5.25" Main Valve Opening	12	Each	\$ 3,402.00	\$ 40,824.00
11	Metropolitan M-94 Fire Hydrant, 5'-6" Bury w 5.25" Main Valve Opening	6	Each	\$ 3,475.00	\$ 20,850.00
12	Metropolitan M-94 Fire Hydrant, 6'-0" Bury w 5.25" Main Valve Opening	2	Each	\$ 3,550.00	\$ 7,100.00
Grand Total >>					\$ 258,623.48

Bids shall be awarded based on the lowest responsible and responsive bid meeting the specifications.

*Ferguson
Water Works*